










¼













Item
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39

40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76

Part Number
ST168FD-1160100

GB819-85
ST168FD-1160200
ST168FD-1160200
ST168F-1160500

ST168FD-1160001A
GB5789-86

ST168FD-1163000
ST168FD-1160400

ST168FD-1160002A
ST168FD-1100200-1

GB6177-86
GB5789-86

ST168FD-1100002B
ST02FD-1152035-CSA

ST02FD-1152002-2
GB5789-86
GB5781-87

ST168FD-1150230-CSA
GB5781-86

ST168FD-1152031-CSA
ST168FD-1152004
ST02FD-1152032

GB5789-86
ST02FD-1152001

ST02FD-1152020-CSA
GB5780-86

GB90-85
GB279-88 6202

ST02FD-1152010-CSA
ST02FD-1152009

ST168FD-1030007
GB5789-86

ST188FD-1743002-C
GB6170-86

ST168FD-1150401
GB5789-86
GB5789-86

ST168FD-1710004
ST02FD-1151200C-CSA

ST02FD-1151206M
ST02FD-1151200B-CSA
ST02FD-1151204A-CSA

ST168FD-1716000-CSA-2
ST02FD-1151205A

ST02FD-1151211-CSA
GB/T91-2000

GB97.1-85
ST177FD-1152300

ST168FD-1150301-M
ST02FD-1151300-1
ST02FD-1151400

GB5789-86
ST02FD-1151002

GB5789-86
ST168FD-1151300D-CSA

ST168F-II-1000000
ST168FD-1130003-CPE

ST168FD-1130005
ST02FD-1151201A
ST168FD-1111100
ST168FD-1090100
ST168FD-1090002
ST168FD-1090003
ST168FD-1090004
ST168FD-1090200

GB5789-86
GB93-1987

ST188FD-1100010-88
ST188FD-1180121

GB5789-86
ST02FD-1151300-CSA

ST02FD-1151202A-CSA
ST02FD-1151207-M
ST02FD-1151208-M
ST02FD-1151036 

Description
Fuel Meter Assy

Screw M5×6
Fuel Tank Cap

Fuel Tank Cap Seal
Fuel Filler
Fuel Tank

Bolt M6×16
Tank Rubber

Fuel Cock
Fuel Tank

Muffler
Nut M6

Bolt M6×20
Muffler Stay
Brush Assy

Generator End Cover
Bolt M5×10
Bolt M5×16

Terminal
Bolt M5×15

AVR
Diode Assy
End Cover

Flange Bolt M6×130
Stator Cover
Stator Assy

Flange Bolt M8×210
Washer   6

Bearing 6202
Rotor Comp
Cooling Fan

Crankcase Cover
Flange Bolt M8×32

Vibration Mount
Nut M8

Support Leg
Flange Bolt M8×16

 Bolt M5×12
Red Positive Terminal

Black Negative Terminal
Receptacle

Electrical Wire Safeguard
Receptacle
Volt Meter

AC250V.20A DOUBLE POLES
Switch

Control Panel
Cotter Pin M3.2×40

Flat Washer   17
8in Wheel (Solid)

Axle (23.5in)
Bottom Rubber

Handle
Flange Bolt M8×40

Muffler Cover
Flange Bolt M6×12

Frame
Engine

Carburetor
Packing

Choke Lever Comp
Control Assy

Air Cleaner Case Comp
Air Cleaner Seal

Separator
Element

Air Cleaner Cover Comp
Bolt M5×10

Spring Washer   5
Spark Arrester Cover 
Spark Arrester Assy
Flange Bolt M6×35

Control Box
DC.Fuse 10A

Earth Line
Earth Bolt

Brush Assy Cover Board

Qty.
1
2
1
1
1
1
4
4
1
1
1
1
1
1
1
1
2
2
1
2
1
1
1
4
1
1
1
1
1
1
1
1
2
2

16
1
6
4
1
1
2
1
1
1
2
1
1
2
2
2
1
4
1
2
1
4
1
1
1
1
1
1
1
1
1
1
1
2
2
1
1
3
1
1
1
1
1













0,65













AC250V.20A doubles polonais 

Bâti de vibration 

Le caoutchouc inférieur

Item
1
2
3
4
5
6
7
8
9

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76

ST168FD-1160100
GB819-85

ST168FD-1160200
ST168FD-1160200
ST168F-1160500

ST168FD-1160001A
GB5789-86

ST168FD-1163000
ST168FD-1160400

ST168FD-1160002A
ST168FD-1100200-1

GB6177-86
GB5789-86

ST168FD-1100002B
ST02FD-1152035-CSA

ST02FD-1152002-2
GB5789-86
GB5781-87

ST168FD-1150230-CSA
GB5781-86

ST168FD-1152031-CSA
ST168FD-1152004
ST02FD-1152032

GB5789-86
ST02FD-1152001

ST02FD-1152020-CSA
GB5780-86

GB90-85
GB279-88 6202

ST02FD-1152010-CSA
ST02FD-1152009

ST168FD-1030007
GB5789-86

ST188FD-1743002-C
GB6170-86

ST168FD-1150401
GB5789-86
GB5789-86

ST168FD-1710004
ST02FD-1151200C-CSA

ST02FD-1151206M
ST02FD-1151200B-CSA
ST02FD-1151204A-CSA
ST168FD-1716000-CSA

ST02FD-1151205A
ST02FD-1151211-CSA

GB/T91-2000
GB97.1-85

ST177FD-1152300
ST168FD-1150301-M
ST02FD-1151300-1
ST02FD-1151400

GB5789-86
ST02FD-1151002

GB5789-86
ST168FD-1151300D-CSA

ST168F-II-1000000
ST168FD-1130003-CPE

ST168FD-1130005
ST02FD-1151201A
ST168FD-1111100
ST168FD-1090100
ST168FD-1090002
ST168FD-1090003
ST168FD-1090004
ST168FD-1090200

GB5789-86
GB93-1987

ST168FD-1100010-88
ST188FD-1180121

GB5789-86
ST02FD-1151300-CSA

ST02FD-1151202A-CSA
ST02FD-1151207-M
ST02FD-1151208-M

ST02FD-1151036

1
2
1
1
1
1
4
4
1
1
1
1
1
1
1
1
2
2
1
2
1
1
1
4
1
1
1
1
1
1
1
1
2
2

16
1
6
4
1
1
2
1
1
1
2
1
1
2
2
2
1
4
1
2
1
4
1
1
1
1
1
1
1
1
1
1
1
2
2
1
1
3
1
1
1
1
1


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24

